
  

  �

  �������	 �) �(  
�  ��  �  

  ����  ��  ��  

  �������  
 
  

� �	��� �������:        � !"� #$%&'(� )�*+ ,� �, -�./ ��/ �0���"1 )	23 #��4 �	% 5/%6 ���1 .  �8!�1

��1 �9��4 %�� :�83�1 �	� ;!� )�(�<*	 #)/�.  

�� �!& 	 :��� =�	>? ;��,��� .  

 � �%	 >� :�%&@/��)/� >%�	 A%*B ;.  
    

� .���� 	
�� 
���� �� 
��
� �����  

  ��
 .5C  � .SC    

  � .VC5  � .5D  

�.���� 	
��  
���� � �+
− ])([ 243 ClNHCotrans���
  
!�   

  ��
 .hO  � .VC2  � .hD4  � .VC4  

" . #�$�% �&
 
� �'�$(�)*&
 �+, -. �/��% �01% �
!2%
 �� 
� 342(% "(� �
� 3, 5
 67 �6�$�� 3) ���� 	
�� 
�( ��� �� 

���
  
!� 	!%7  

  ��
 .hD3  � .hO  � .VC3  � .dD3  

: .  
!�)5 ;<=>?� 60)�$@A ���0� �����
�   

�B 33
−

])([ OXCr    � B −
− ])()([ 222 OHOXCrtrans  

" B −
− ])()([ 222 OHOXCrCis  

  

  ��
 .� 
 "  � .� 
 �  � .� 
 "  � .��0% �� �,  

C .��$�� #?D. 24S
!� $� ���
 5�
 3, 6�$�� #?D    

  ��
 .12S  � .12C  � .22C  � .22S  

E .
�7  
!�)F $,��
�2<�
 .5 )� ,�=?& $,�H �I. )�$�<.�!��
�   

  ��
 .24
PP ,  � .22

dF ,  � .22
pd ,  � .36

dd ,  

J .H �=?&  
!��I. ����$����
   

  ��
 .3
5

p  � .3
3

F  � .2
3

D  � .

2

3
2

S  

K .$L ��$M �� 6
�2<�
 !(�) 3�
 �Cu
29
�
� �?N% %02�
0� �
!D
 �D0. 0=l���
   

  ��
 .K  � .J  � .�  � .�  



  

  �

   ����	 ����)�(  
�  ��  �  

  ����  ��  ��  

  �������  

  

O .,�� P$�� �
!@�.
�� ���
 �Q$2 $,� pd ,L ���
�  
!� 5
 �
��% . �!(�  

  ��
 .1−− ln    � .2−− ln  

  � .ln −    � .1−n  

�R .
� �2�, �S0% �$�� )T 6
�2<�
 -)A�U �� V
� �� 
� �=� 3�
 �=�
��2���
  
!�   

  ��
 .C/�  � .:/"  � .�/E  � .�/�R  

�� .����,
0X�
�2<�
 �.���
  
!� $*�Y0�$, ��   

  ��
 .IBrClF >>>   � .IBrClF <<>  

  � .IBrClF >><    � .IBrClF <<<  

�� .�$Z�
�2<�
�0�� 3�
 �L �� 6Y
�2� !�0HN −%
!� �� ���0� 5
 - $,�5 )� �����
 �2+  

  ��
 .+
4NH  � .−

2NH  �.  � .HNCCH
+

≡3  

�" .���  
!��Y��
 [2A�� �4� �� $� ��2�X� � [)1\ $,�](D F�0����
 ^  

  ��
 .CsNaArF >>>  � .FArNaCs >>>  

  � .CsNaFAr >>>  � .ArFNaCs >>>  

�: .%
!���7 5
 -�60 $,�5 )�
 ��0_ !)�2�<+� �% #. �!,�  

  ��
 .−
4ClO  � .−2

4SO  � .−3
4PO  � .−4

4SiO  

�C .
��
� ���$@% #<`�%
!� ����
 -  

  ��
 .
λ

υ
C

=  � .
h

E
=υ  � .2mCE =  � .

mv

h
=λ  

�E.�!(, #<` .  Q0<�0%4XeOF���
  
!�  

  ��
 .*&
 �+,.    � .@��% 	!D$_ $�  �,.  

  � .%�, 
�.a=a% .    � .@=b c(L.  

�J .

5)L ��!�0����
 ��
�� ��0� 
�  
!� ��   

  ��
 .44 CFNH ,
+    � .++

OHNH 34 ,  

  � .33 FNHN &&&& ,    � .22 OHOF ,  

�K .%
!��5 ��
0% 5
 -)�4� d/H �� �) �VSEPR, !_$A ��/)!�
� 60dsp
3���
   

  ��
 .32ClPF  � .5PF  � .3ClF  � . 
−2

4SF  

�O .Y��
�L � !�0HC −%
!� �� ���� 5
 -�5 e$/)� �����
 �2+  

  ��
 .�
�[  � .[�
  � .6$2%  � .HC −�
� )�$<.  



  

  �

   ����	 ����)�(  
�  ��  �  

  ����  ��  ��  

  �������  

  

�R. �� ) 60−2
82 ][ ClBi��
 �Q$2 $,�, ��/)!�� �0?�e
�7 
 )�!(, F.3�
  $,� 67 f
�H
 �� ����  

  ��
 .dsp
3 B%�, 
� .a=a% 	!D$_ $� .  � .23

dsp B*&
 �+, .  

  � .23
dsp Bg��% 	!D$_ $�  �,   � .dsp

3 B g��% 	!D$_ $�  �,  

�� .!� �0=� �$2h$� ��0% ��)�=� 3)%
!� !�5 ��$�% 5
 -)1\ �����
 ^  

  ��
 .!� �, �� �/��)3 ,E�7 � �=\$A �� 60d 
���$� � �=\$A �� 60d2��
� �
�_ .  

  � .!� �, �� �/��)3 ,���7 � �=\$A �� 60d 
 E�$� � �=\$A �� 60d2��
� �
�_ .  

  � .!� �, �� �/��)3 ,E�7 � �=\$A �� 60d 
 E�$� � �=\$A �� 60d2��
� �
�_ .  

  � .!� �, �� �/��)3 ,���7 � �=\$A �� 60d 
 ���$� � �=\$A �� 60d2��
� �
�_ .  

�� . ���
� ��)(
nr

zzNMe 1
1

4 00

2

0 −
−

=

−+

επ
υ�� 
�Y��
 �/�$1% � �</` )$*�0��0=� � ,M$?� )� 	!(����  

  ��
 .�2�, �S0% �$�    � .!% ��$Si�T  

  � .�0%  �&.-?�     � .� �=\$A��2�, [ 
�  

�" .���  
!��� ��$�$�� 3� j0� p���
   

  ��
 .SFe 950 /
    � .950 /

ZnO  

  � .ClNa y+1    � .GeAs  

�: .$��
 �!D) �� ��� F43OPb���
  
!�   

  ��
 .23 ++ ,    � .
3

4
+  

  � .24 ++ ,    � .4+  

�C .
 Q0=� 
��
� #<`�$2h$� �� !M
�% 6$+� 
� . �!,�  

  ��
 .�k�!
� �    � .�
��#    

  � .�0l0=A)�    � .m��
)�  

  

�E .��
  
!��5 n=2X%!)<�
�L �$2h$� �����
� �  

  ��
 .3MgTiO    � .3SrTiO  

  � .42OTiMn    � .43OFe  

  

  

  



  

  �

  ���	 ���� �)�(  
�  ��  �  

  ����  ��  ��  

  �������  

  

»��D EF�.GGGG/!GGGGGH�«  
  

� ��D -�./ �9 J,%1!H� :
K/�:���   
  

� .��$�� Q$?D
 
 �\$(D.���� 	
�� 
 �2`0� �7 Q0<�0% �� 
�  
�(� oX+% 
� 67 	
�� �/��% 
 �!.  

  

� .
��
� �0% Q0H��
�2<�
 .Y��
 $� �+/(&  . )( EceV100� (� �$�M 
�!.  

   6
�2<�
  �&kgmJeVJh e
31934

1019106111066
−−−

×=×=×= /// sec.  

  

  

".��� �� � �KCl� �=\$A � [)$*�0� $� ��
�� 6
�2<�
 3, 0
143 A/% . !`$� . j$@`+

K
r 
 −

Cl
r(� �$�M 
� � �� !

��0\�
�� �2�, �S0% �$� �<� )$*�0� −+
ClK ,��� �� � ��
�� �JC/C 
 JC/J!`$� .  

  

: .�)��
  
��$��$2.�0<�0% . 2BeH$?� 3�� 
� �)!.  

  

C .$,�$2h$� ���0=�%�0� �)�
��
�_ �$� ;�$L 
 �$2h$� �, )���
!)5�  �A [
��$�.�7 �� Q0<�0% �� 60�%7 
�2� !

−
][ HNO 22.  

  

E .Y��
��=� -?� �</` ��0=A 3)l$?� �/�$1% 
� !��!  

>�$2�7.@]� � ! =�J� ,  Y��
� ) F�02
1640

+
= Ca , Y��
�<I� ��0=A -)! = �CK , Y��
�,
0X�
�2<�
 . �0=A  ="�� –   

>�$2�7.<+� ��=� #��0=A 3) ! =��RR B  

  


